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Guess Paper – 2011
Class – X
 Subject –Science

SECTION – A

1. How would you name the following compounds ?


1







       H

i) CH3     CH2      Br           (ii)






H     C  =  O

2. What is Tyndall effect ?






1

3. Name an ecofriendly fuel ?






1

4. Write a three step food chain .





1

5. What were the limitations of Dobereiner’s classification ?

2

6. What were the criteria used by Mendeleev in creating his periodic 

    table ?









2

7. What are bisexual organisms ? Give two examples.


2

8. When and how does multiple fission take place ?


2
9.(i) Why do we prefer a convex mirror as a rear-view mirror in 

         vehicles ?








 2

   (ii) Find the focal length of a convex mirror whose radius of 

         curvature is 32cm.

10. Why do the faces of persons sitting opposite to you around a 

       camp fire appear to shimmer ?





2


11. State the reason for the following observations recorded from the 

      surface of the Moon .







2

12. How is the increase in demand for energy affecting the environment 

      adversely ? 








2

13. What is Chipko movement ? Why should we conserve forests ?
2

14. Give reasons for the following :-





3


a) Air holes of a gas burner have to be adjusted when the heated


    vessels get blackened by flame .


b) Soap are ineffective in hard water.


c) Alcohol supplied for industrial purposes is mixed with poisonous


    like copper sulphate. 

15. How were the following defects of the original Mendeleev’s Periodic 

      Table resolved in the modified Mendeleev’s Periodic Table ?
3


i) problem of anomalous pairs

(ii) Position of rare earths


iii) Positions of isotopes

16. Illustrate the following with the help of suitable diagrams:

3


i) Binary fission in Amoeba 


ii) Leaf of Bryophyllum with buds.

17. Give reasons for the following :





3


a) Wings of a bird and the wings of a bat are not considered


     analogous.


b) A male is called heterogametic .


c) The sex of a child is determined by what it inherits from the 


    father and not from the mother.

18. Mendel crossed the round and green seeded pea plants with the 

      wrinkled and yellow seeded pea plants. Give the phenotypic ratio

      of  F2  generation.







3

19. Clarify the terms ‘haploid’ and ‘diploid’. What is the relation between 
       the two terms ?







3

20. By drawing a neat diagram show how the image of a small slide 

      can be projected on a large screen. State two characteristics of the 

      image.









 3

21. Two thin lenses of power +2.5 D and  - 1.5 D are placed in 

      contact with each other . Calculate:

i) power of the combination (ii) focal length of the combination.
3

22. The given diagram shows the path of a ray of light through an 

       Equilateral prism. Answer the following questions:


3

i)     Which is the refracted ray ?

ii)    Which is the emergent ray ?

iii)   What name is given to angle 1 ?

iv)   What name is given to angle 3 ?

v)    What name is given to angle 5 ?

          vi)   What is the relation between angles 1,2,3,and 4 ?

23. a) Write the chemical equation representing the preparation reaction

 
of ethanol from ethane.






5

      b) Name the product obtained when ethanol is oxidized by either


chromic anhydride or alkaline potassium  permanganate.

      c) Give an example of esterification reaction.

      d) What is hydrogenation ? What is its industrial application





Or

      a) Give a chemical test to identify the compound CH3COOH.
5

      b) Name the gas evolved when this compound acts on solid sodium 


carbonate. How would you identify this gas ?

      c) How would you bring about the following conversions ? Name 


the process and write the reaction involved.


I_ ethanol to ethane 
(ii) propanol to propanoic acid.
24. What happens when the egg is not fertilised ?



    5




Or

      Draw a labeled diagram showing reproductive organs in a male 

      human body along with its position.

25. The radius of curvature of a convex mirror used on a moving 

      automobile is 2.0m. A truck is coming behind it at a constant 

      distance of 3.5 m. Calculate: (i) the position , and (ii) the size of 

      Image relative to the size of the truck . What will be the nature of

      the image ?








    5





Or

      Draw the ray diagram in each case to show the position and nature of the 

      Image formed when the object is placed:

i) at the centre of curvature of a concave mirror.

ii) between the pole P and focus F of a concave mirror.

iii) in front of a convex mirror 

iv) at 2F of a convex lens

v) in front of a concave lens.

SECTION  - B         
26. When an aluminum strip is kept immersed in freshly prepared ferrous          Sulphate solution taken in a test tube , the change which is observed


Is:









1

a)the green solution slowly turns brown

b)the lower end of the test tube becomes slightly warm

c)a colourless gas with the smell of burning sulphur

is observed

d)light green solution change to blue
27. On adding zink granules to freshly prepared ferrous sulphate 

      Solution, a student observes that :





1

a)a dull brown coating is formed

b) a black coating is formed

c) a grayish coating is formed.

d) no coating is formed .

28. Ethanoic acid was added to sodium bicarbonate solution and the 

      Gas evolved was tested with a burning splinter. The following four 

      Observation were  reported.






       1
a) the gas burns with the pop sound and the flame gets extinguished.


b) The gas does not burn but the splinter burns with a pop sound .

c) The flame extinguishes and the gas does not burn.


d) the gas burns with a blue flame and the splinter burns brightly.

The correct observation is reported in:

     (A) a               (B)  b         (C)  c           (D)   d

29. When sodium bicarbonate powder is added to acetic acid, a gas 

       evolves. Which one of the following statements is not true for this gas ? 

       It:









      1

a) turns limewater milky.

b) extinguishes a burning g splinter

c) dissolves in a solution of sodium hydroxide

d) turns acidified potassium dichromate solution green 

30. Ethanoic acid is the constituent of :




      1

a) lemon juice    (b) grape juice    (c) table vinegar  (d) beer

31. The image of a distant object is obtained on a screen by using a 

      concave mirror. The focal length of mirror can be determined

      by measuring the distance between :

a) the object and the mirror
b) the object and the screen

c) the mirror and the screen

d) the mirror and the screen as well as that between the object and the screen 

32. The focal length of the concave mirror in the experiment set up shown

      Below , is:








1
   (a) 10.2cm          (b) 11.0cm      (c) 11.4cm         (d) 12.2cm











    P.T.O






(6)

33. A student obtained a sharp image of the grill of a window on a 

Screen, using a convex lens. For getting better results, the teacher suggested focusing a distant tree instead of the grill. In which 

      Direction should the lens be moved for this purpose ?


1


a) Away from the screen

(b) Very far away from the screen

c) Behind the screen

(d) Towards the screen

34. A ray of light traveling through glass emerges into air. At the surface

      Of separation, the ray:


a) continues along the same path
(b) bend towards the normal


c) is reflected back in water

(d) bend away from the normal

35. In an experiment to trace the path of a ray of light passing through a 

      Rectangular glass slab, the correct measurement of angles of incidence
      (i) refraction ® and emergence (e) is shown in diagram.

1


(a) A           (b)  B             (c)  C          (d)    D

36. The figure given below illustrates the step leading to :


1

a) binary fission in Amoeba


b) longitudinal binary fission in Paramecium


c) transverse binary fission in Euglena

d) transverse binary fission in Paramecium
37. Two of the following four figures that illustrate budding are:
1

(a) I and II      (b) I and III    (c) I and IV    (d) II and IV

38. Slides A and B show stages of a sexual reproduction in two organs.1

The slides A and B are depicting:

a) binary fission is both Amoeba and yeast

b) budding in both amoeba and yeast

c) binary fission in yeast and budding in Amoeba

d) binary fission in Amoeba and budding in yeast

39. A solution whose concentration is greater than the internal concentration 
      Of the cell is :

     a) isotonic solution

(b) hypotonic solution

     c) hypertonic solution

(d) None of these

40. Endosmosis occurs when raisins are placed in :



1


a) hypotonic solution
(b) hypertonic solution


c) isotonic solution

(d) None of these

41. While performing the experiment with raisins to determine the 

      Percentage of water absorbed by them, a student recorded the 

      Following data:







1


Weight of the water in the beaker =50 g


Weight of raisins before soaking =10g


Weight of raisins before soaking for one hour= 15g

          Weight of water left in the beaker after the experiment was over =40g

The percentage of water absorbed by raisins is :


(a) 10        (b) 20        (c) 45
  (d) 50
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